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Aufgabe 1
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
4 8 3 _3 5 _ 15 1 1
a) g =g3 by rg=1 ) 16 = 16 DR
1 2 5 _ 15 1 _ 2 7T 7
¢ "1=5 ) 7=17 g "3=3 by r153=3
. 7T _ T . 5 _ 15
) 2T 10 V1= 1
Aufgabe 2
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
2 _ 2 2 _ 4 5 _ 15 5 _ 10
a) g5 =3 byl -7=7¢ ¢) 16 = 16 ) 1g=19
2 _ 4 2 _ 4 1 _ 4 3 _ 3
) 15=53 )i -5=3 g 9=09 h) " -g=1
) - 2=25 N2 =12
! 15~ 15 ] 17 = 17
Aufgabe 3
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
1 _ 3 1 _ 3 1 _ 2 1 1
a) g =1 by rg=1 ¢ 3=3 d1=3
2 4 1 3 2 2 1 3
) 5=35 )i "g§=3§ g "§5=3 by -5=75%
. 4 8 : 2 _ 8
U A A ek
Aufgabe 4
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
3 1 25 1 29 6
6 1 1 1 10 2
d) g3 =lg3 ¢ -3=83 o7 =347
11 3 9 5 . 5 3
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pooe3=24

Viel Erfolg!
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